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Manual Threshold Scan
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Test command: { diodeDrive 20 10 5 2600 2563 } injects a signal into the test pixel that gives a ~210mV step
response, ie similar to Fe55 peak. The threshold is scanned (manually) and the output of the comparator

Threshold Behaviour

observed with respect to the input: The value of (signal-reset) is plotted when the comparator fires.
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Threshold Behaviour

Test command: { diodeDrive 20 10 5 2600 2563 } injects a signal into the test pixel that gives a ~210mV step
response, ie similar to Fe55 peak. The threshold is scanned (manually) and the output of the comparator
observed (by eye) on the oscilloscope: An estimate is made of the correct operation of the comparator

(a value >0% and <100% indicates noise on the comparator output)
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Threshold Common-Mode
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Some different masks
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Jumper options
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Vrst connection J24
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Base plate grounding
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